





o, a+p-ap 9

St
=

a/,,BE]'

e
=

1
T

Hi-

=09

A 5x? —2x -3

)

H

1%}

@ 2 3 3 @ 4 3 5

D 1



ajo
o
oju
=T
Ho
of o
rJ o
O_E ol
rl o
<
ol oy
o N
Il °
il
— —_—
3
= 0
0
|
: E
=
[a\]
=T
"B
o B
~ X
o "
old |
o o
o

]+ \/(—5)2—4><2><E]

QXI:]

@ 1 B 2

® 0



<

b o 27

@ 2 3 3

5x2=10x4+6 = 0 oA =22 ol a & W], 242 —a—ab =0



@ 2 3 3

D 1



ol

® 19 A 20 @ 21 B 22

@D 18



8.

ofm Aol A ¥
29t A& 29

@ (44 3V2)em
@ (4-2v2)em

@ (4- V2)em
® (44 2v2)em

® (4+ V2)cm



o x4 2x2 — 9x —ax + 3a+ 8 = 0 ©] FF9]

9.

el
Tol
o
il
&
o

@ 7 3 8 @ 9 ® 10

@D 6



sl
rlo

D 4+ 2
@ 4-+3

@ 44 V3
® 4-2

® 1+2V2



11.

o] 70m E°l° Az H7|A E=2Z& Zo}
E279]t 2 3] %0]7} (70 + 25¢ - 52)m =L
F o] 2719] #o]7t 40m 7t & W= 2o}



12. o8 o)A AABC = A = 90° Q1 A7 2ol A HE= A A
oA BC of & 542 dtojct, o] uff, x o] Zh2?




O YA 2 42—k = 0 o] AZ T2 F AT 4 W, ke +

13.

i
K
o
mJ
<

i

O ER=E

i
K
o

Nio

@ k 2] gholl wet Fapat,



14.

1 7H7P 5E gE2?

o L

@ 12

D=



5+\/§ 5_\/§O]

15. o34 24 + px + ¢ = 09 H7F ——,

2
q, 2p + q5 o= Z¥al X% O] A57E 1 Q1 oAb A2

D x*-8x-9=0 @ x*+8x-9=0

@ x24+8x+9=0 @ x24+x-9=0

® xX2+Lx4+9=0

=

o, p

_|_



